How do we use Knowledge Organisers in
Biology

How can you use knowledge organisers at home to help us?

. Retrieval Practice: Read over a section of the knowledge organiser, cover it up and then write down
everything you can remember. Repeat until you remember everything.
. Flash Cards: Using the Knowledge Organisers to help on one side of a piece of paper write a question,

on the other side write an answer. Ask someone to test you by asking a question and seeing if you know
the answer.

. Mind Maps: Turn the information from the knowledge organiser into a mind map. Then reread the mind
map and on a piece of paper half the size try and recreate the key phrases of the mind map from memory.

*  Sketch it: Draw an image to represent each fact; this can be done in isolation or as part of the mind
map/flash card.

* Teach it: Teach someone the information on your knowledge organiser, let them ask you questions and
see if you know the answers.

How will we use knowledge organisers in Biology?
*  Test: We will do regular low stakes tests to check your ability to retrieve information from memory.

. Mark our answers: Once you have done a low stake test you can mark your work using the knowledge
organiser.

. Improve our work: Once you have finished a piece of work you may be asked to check your
knowledge organiser to see if there is any information on it that you could add into an answer.

1 Respiration 3

Tier 2 ‘unlocking’ language Tier 3 subject relevant

language
Breathe Alveoli
Reaction Muscular
Organ Exercise
Function Circulatory
Process Respiration
Compare Aerobic
Equation Breathing

Effect Anaerobic



Knowledge Organiser: Respiration
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Types of respiration

All'living cells respire to release energy. Organisms need energy for everything they do
(for example, making new substances, moving).

Aerobic respiration is a series of chemical reactions that can be summarised as:
glucose + oxygen — carbon dioxide + water

Energy is released (but is not a chemical substance and so is not shown in the word equation).
Carbon dioxide can be detected using:

¢ limewater (which it turns cloudy)

e anindicator (such as hydrogen carbonate) because it is acidic)

Anaerobic respiration does not require oxygen. In humans it is used to release energy from
glucose when more energy is needed than can be supplied by aerobic respiration (for example,
during strenuous exercise).

glucose — lactic acid

Anaerobic respiration causes muscles to The effect of exercise on demand for oxygen
tire quickly aqd so cannot be useq for . oxygen demand is
extended periods. A lot of the lactic acid greater than supply
travels from the muscles to the liver, where
it is converted back to glucose. Anaerobic
respiration releases less energy than
aerobic respiration.

oxygen supply

After strenuous exercise, the body needs
extra oxygen. This excess post-exercise
oxygen consumption (EPOC) (or ‘oxygen

Oxygen consumption

resting level

debt’) replaces oxygen lost from oxygen

stores (in the blood and in muscles) and
provides oxygen for increased levels of period of Time
aerobic respiration (for example, to provide exercise
energy for removing lactic acid, for

faster breathing, for faster heart rate).

Microscopic fungi bud

These include, for example, yeast. They:

e reproduce asexually by budding parent cell

e can use aerobic respiration, which is

important in baking scar left by

: - previous buds

e can use anaerobic respiration
(fermentation), which is important in

alcoholic drink manufacture.

glucose — carbon dioxide + ethanol (alcohol)

Leave blank to allow students to glue.



How do we use Knowledge Organisers in
Biology

How can you use knowledge organisers at home to help us?

. Retrieval Practice: Read over a section of the knowledge organiser, cover it up and then write down
everything you can remember. Repeat until you remember everything.
. Flash Cards: Using the Knowledge Organisers to help on one side of a piece of paper write a question,

on the other side write an answer. Ask someone to test you by asking a question and seeing if you know
the answer.

. Mind Maps: Turn the information from the knowledge organiser into a mind map. Then reread the mind
map and on a piece of paper half the size try and recreate the key phrases of the mind map from memory.

*  Sketch it: Draw an image to represent each fact; this can be done in isolation or as part of the mind
map/flash card.

* Teach it: Teach someone the information on your knowledge organiser, let them ask you questions and
see if you know the answers.

How will we use knowledge organisers in Biology?

*  Test: We will do regular low stakes tests to check your ability to retrieve information from memory.

. Mark our answers: Once you have done a low stake test you can mark your work using the knowledge
organiser.

. Improve our work: Once you have finished a piece of work you may be asked to check your
knowledge organiser to see if there is any information on it that you could add into an answer.

1&2 Movement and Health 8

Tier 2 ‘unlocking’ language Tier 3 subject relevant

language
Movement Skeleton
Structure Joint
Support Asthma
Alcohol Ligaments
Muscles Antagonistic
Health Biomechanics
Impact Coronary

Exchange Non-communicable
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to form the backbone

vertebrae (combine
or spine)

scapula (shoulder blade)
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The human skeleton.




How do we use Knowledge Organisers in
Biology

How can you use knowledge organisers at home to help us?

. Retrieval Practice: Read over a section of the knowledge organiser, cover it up and then write down
everything you can remember. Repeat until you remember everything.
. Flash Cards: Using the Knowledge Organisers to help on one side of a piece of paper write a question,

on the other side write an answer. Ask someone to test you by asking a question and seeing if you know
the answer.

. Mind Maps: Turn the information from the knowledge organiser into a mind map. Then reread the mind
map and on a piece of paper half the size try and recreate the key phrases of the mind map from memory.

*  Sketch it: Draw an image to represent each fact; this can be done in isolation or as part of the mind
map/flash card.

* Teach it: Teach someone the information on your knowledge organiser, let them ask you questions and
see if you know the answers.

How will we use knowledge organisers in Biology?
*  Test: We will do regular low stakes tests to check your ability to retrieve information from memory.

. Mark our answers: Once you have done a low stake test you can mark your work using the knowledge
organiser.

. Improve our work: Once you have finished a piece of work you may be asked to check your
knowledge organiser to see if there is any information on it that you could add into an answer.

2 Reproduction 8

Tier 2 ‘unlocking’ language Tier 3 subject relevant

language
Digest Nutrients
Food Diffusion
Breakdown Absorption
Unbalanced Molecule
Balanced Villi
Lifestyle Intestine
Diet Enzyme
absorb

Deficiency
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How do we use Knowledge Organisers in
Biology

How can you use knowledge organisers at home to help us?

. Retrieval Practice: Read over a section of the knowledge organiser, cover it up and then write down
everything you can remember. Repeat until you remember everything.
. Flash Cards: Using the Knowledge Organisers to help on one side of a piece of paper write a question,

on the other side write an answer. Ask someone to test you by asking a question and seeing if you know
the answer.

. Mind Maps: Turn the information from the knowledge organiser into a mind map. Then reread the mind
map and on a piece of paper half the size try and recreate the key phrases of the mind map from memory.

*  Sketch it: Draw an image to represent each fact; this can be done in isolation or as part of the mind
map/flash card.

* Teach it: Teach someone the information on your knowledge organiser, let them ask you questions and
see if you know the answers.

How will we use knowledge organisers in Biology?
*  Test: We will do regular low stakes tests to check your ability to retrieve information from memory.

. Mark our answers: Once you have done a low stake test you can mark your work using the knowledge
organiser.

. Improve our work: Once you have finished a piece of work you may be asked to check your
knowledge organiser to see if there is any information on it that you could add into an answer.

3 All about plants 8

Tier 2 ‘unlocking’ language Tier 3 subject relevant

language
Transport Photosynthesis
Growth Chloroplasts
Reproduction Pollination
Plant Xylem
Roots Phloem
Reaction Vessel
Rate Glucose

Structure Adaptations
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